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Badger Class Maths home learning
Year 5, Week 5
Week 5 - Maths – Multiplication and Division
For our Maths home learning, we are following the White Rose Maths. This is the same resource we use in school. For each lesson there is a helpful 10 minute video to provide home learning support before the worksheets. 
1 - Watch the Video Lesson for That Day
[image: ]Click this https://whiterosemaths.com/homelearning/year-5/spring-week-3-number-multiplication-and-division/    to visit the White Rose Maths website and find the lesson for that day.
Watch the 10 minute video for each day for that lesson:- 
· Monday 		Divide 2-digits by 1-digit
· Tuesday 		Divide 2-digits by 1-digit
· Wednesday		Divide 3-digits by 1-digit
· Thursday		Divide 4-digits by 1-digit
· Friday			Divide with Remainders
Have a go at the questions with the video on a piece of paper or in a book. Pause or rewind the video as often as you need to answer the questions as you go along. 
2 - Complete the Worksheets after the Video Lesson
[image: ]There are two worksheets a front and a back (just like we do in class). The questions get trickier towards the end. Just do your best and have a go at the questions. Re-watch the video lesson if you need a reminder of the method. 
Write answers down on a piece of paper or in an exercise book (remember to number the answers). You can collect a paper printouts of this learning pack from the school office if that’s better for you to write your answers on.
3 - Send Me Your Work So I Can Mark It
Once you have finished send your work to me so I can have a look, mark it and get it back to you with feedback. 

How can you get your work to me?
· Take a photo of your work and email it to badgerclass@parkside.kent.sch.uk  
· Drop it off at the office  when you collect your next home learning pack

Times Tables 
Remember to practise your times tables for 10 minutes every day. 
This website is good to practise at home by yourself https://www.timestables.co.uk/ 
Mr King  
Monday - (sheet 1)
[image: ]
Monday - (sheet 2)
[image: ]
Tuesday - (sheet 1)
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Tuesday - (sheet 2)
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Wednesday - (sheet 1)
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Wednesday – (sheet 2)
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Thursday - (sheet 1)
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Thursday - (sheet 2)
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Friday - (sheet 1)
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Friday - (sheet 2)
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Remember to show your work to your teacher. You can bring it to the office each week as you collect your next home learning pack or send a photo of your work to Mr King at badgerclass@parkside.kent.sch.uk             Mr King  
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Divide 2-digits by 1-digit (1)

° Rosie is working out 93 + 3 using a place value chart.

a) Talk about Rosie’s method with a partner.

b) Complete the division.
93+3=

@ Use place value counters to complete the divisions.

0)66:3= d)agsa=
b)86+2= e =39:3
9 50:5= n84:a=

Y

° Dexter is working out 56 + 4 using a place value chart.

T can't do it
because I have counters

left over.

Do you agree with Dexter?
Explain your answer.

b) Work out 56 + 4 using place value counters.

56+4=

@ Use place value counters to complete the divisions.

@) 72+3= ) 48+6=

b)92:4= e) =45+3

9 65+5= f)64:a=





image4.png
© Teddy is working out 57 + 3

This division will
need an exchange.

How does Teddy know this? Talk about it with a partner.

° Amir is working out 68 + 4

+ 4 +4

15 2

Talk about Amir's method with a partner.

68+4=17

€ Use Amir's method to complete these calculations.

@) a2:3= b) 96+ 4=

Q) 85:5= d)84:6=

© «im has 92 beads.
She wants to share them equally between 4 friends.
How many beads will each friend get?

@ Wite <. > or = to make the statements correct.

96+a©7z+s 95+5©63+3
51+3 Osu-l 98+70ss+s
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There are 17 lolly sti

s.

Divide 2-digits by 1-digit (3)

There are| | groups of 3
There are| | lolly sticks remaining.
@ Vo hos these loly sticks. 17:3=| |remainder
I € - ===t
He uses them to make squares. @ Finally. Mo uses the olly sticks to make pentagons.
How many squares can Mo make? How many pentagons can Mo make?

Complete the sentences.

Complete the sentences. There are 17 lolly sti

s.

The 17 lolly sticks.
ere are 17 lolly sticks There are| | groups of 5
There are | | groups of 4
There are| | lolly sticks remaining.
There is| |lolly stick remaining.
17+5= remainder
17+4= remainder
Mo can make | | pentagons.
Mo can make [ | squares.

° Use repeated subtraction to complete the divisions.
G Mo now uses the lolly sticks to make triangles. . Use the number lines to help you.

How many triangles can Mo make? @23+

remainder

Complete the sentences.
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b)23:5= remainder

! ! I [ S|

f t f A
0 18 23
Q) 23:3= remainder

! ! L Ll

f t f A
0 23

Is Eva correct?

How do you know?

@ complete the calculations.

a) 29+

b) 29 +

= 4 remainder 5

= 4 remainder 1

There is a
remainder of 6

Q29+

= 14 remainder 1

ReC O

@ How do you know there is no remainder when 75 is

divided by 57

Without doing the division, what is the remainder
when 76 is divided by 57

Use place value counters and a place value chart to work out
the divisions.

a)87+4= remainder
b)77+3= remainder
Q) 74:5= remainder

Teddy has fewer than 60 marbles but more than 40
When he shares them equally into 3 pots he has no remainders.

When he shares them equally into 4 pots he has remainder 3
When he shares them equally into 5 pots he has remainder 1

How many marbles could Teddy have?
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Divide 3-digits by 1-digit

@ ok s working out 844 + 4 using o place value chart.

@) Talk about Jack's method with a partner.
b) Complete the division.

844 4=

@ Use Jacks method to work out these divisions.

a) 525+5= ) 840 +8=

b) 63646 = d)903+3=

° Eva is working out 844 + 4 using a part-whole model.

Complete Eva’s method. 844 :4

@ A val of string s 848 cm long.
It is cut into 4 equal pieces.
What is the length of one piece of string?

© Whitney is using flexible partitioning to divide a 3-digit number.

200 10 4
Could Whitney have partitioned her number another way?
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Use Whitney’s method to work out these divisions.

@) 585+ 5=

b) 672+ 6 =

@ complete the part-whole models and divisions.

€ 648 :4=

d) 8477 =

168 +4 =

What is the same and what is different about the calculations?

Talk about it with @ partner.

@ complete the divisions.

169+ 4=

@) 258+ 6=

) 864 +4=

b) 623 +5 =

d) 824 +3=

&

)

© &vo hos a piece of ribbon. N
The ribbon measures 839 cm long.
How much ribbon would be left over if she cuts it into:

@) 4 equal pieces

b) 6 equal pieces

©) 8 equal pieces

Can Eva cut the ribbon into equal pieces
with no ribbon left over? E—

Explain your answer.

@ Use 15 counters and a place value chart.
) Can you make @ number that is divisible by 37—
b) Can you make a number that has a remainder
of 1 when divided by 37 N
9 Can you make @ number that has a remainder
of 2 when divided by 37

What do you notice? Talk about your findings with a partner.
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Divide 4-digits by 1-digit @ Use the place value charts to work out the divisions.

@) 8532+:2=

@ o Gircie the groups of 3 to help you complete the sentences 2[s
and calculation.
The first step has been done for you.
1
3[379 36
b) 5296 + 4 =
e Loroup otz hovenss I T B |
There are| | groups of 3 hundreds.
afs
Thereis| | aroup of 3 tens.
There are| | groups of 3 ones.
3936 +3=
b) Use the place value chart to work out 8,404 + 4 Q 9 6078+6=
Th Q T _
a[8]a ola 6[6
8,404+ 4=
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e Complete the divisions.

a) d)

5(3/5 6 0 8
b) °

9/2/7 3 6 8
Ll f

4|65 2 a 7

Could you have calculated the answer to part f) more efficiently?

@ Workout the values of a, b and c.

b=

_ -

© Find the missing digits.

b)

Which is the best deal?

Show your workings.
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b) Use place value counters to work out 8,407 + 4

Divide with remainders

i

© o circie the groups of 3 to help complete the sentences Q
and calculation.

8407+ 4= remainder

‘The first step has been done for you.

© o) complete the divsions.
Use place value counters to help you.

There is| 1 |group of 3 thousands. 3|7/5/905 a|8]s
There are| | groups of 3 hundreds.

Therels|  |group of 3 tens.

There are| | groups of 3 ones. s[es]s 2 3[3]9
There are| | ones left over.

3,938+3= remainder b) Write <, > or = to complete the statements.

7,595 +3 O 8,567 +4
6,562+5 O 3935+3
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@ write the colculations in the correct column of the table.

5066+ 4

9513+4

123454

65624

6563+4

9515+ 4

Are any columns empty? Talk to a partner about why this

has happened.

7,816

7,861

6,781

1,786

Is Eva correct?
How do you know?

Thnow that if I divide
these numbers by 5 the
remainder will be 1

@ here are 459 children in a school.

‘They are sitting at tables in groups of 7

We will need
65 tables.

Do you agree with Mo?

Explain your answer.

° Bags of crisps are put into multipacks of 6
The multipacks are then packed into boxes of 8
Yesterday, 6,500 bags of crisps were packed.
How many boxes of crisps were packed?

@) How many ways can you complete the calculation using all the
digit cards so that there is o remainder of 17

b) What do you notice?

© ora s thinking of o number between 500 and 600
When she divides it by o 1-digit number it has o remainder of 4
What could Dora’s number be?
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11 and 12 times-table € Rosie is spotting patterns in the 11 times-table.

When 1 add together
the digis of each multiple
of 11, I always get
an even number

© e o 10 epresems 2111 ®

| I ) Do you agree with Rosie?
[] L] 2xm=2

Explain your answer.

Use base 10 to work out 3 x 11

Draw your base 10 ond complete the multiplication. Q

b) What else do you notice?
‘What other patterns can you see in the 11 times-table?
Talk about it with a partner.

1x1|.|:|

© Crovons come in ks of 12
Q Dora buys 5 packs of crayons.

efofofofal

How many crayons does she have?

© compiete the calculations.

sene[ ] aaena[ ]
(R
(| ]

.
m,n=\:| uu|=|:|
oo tes| oo

9x1=

Gx1=
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